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1. #iE= |—HRZARITSA2I—5@IKWRL THE)
2. fs4=  |BALV-EM70A EM80A-P(-BS,~BSG)
3. HIREET
(OB E=E M M= 1307 kg
QHBEE W W=M x 10/1000= 13.07 kN
(2)7Uh—1K bk
OBAERE n n= 4 X
Qf WME - d (FEFR) M 16
Q—A Y DErmEiE (MFERICKSMmEE) A= 2.0096 cm?
O BRELBEZEZ-HEAEDEIRYEZITEFRIDT/A—K WMEARE : nt
nt= 2 PN
RFEFELVEREDETOES hG= 73.5 cm
(4)RBETT BAMMDDIHT=RMIANY = 66.0 cm

(5)REFT DA MM A=K WL NOHEEFE D ETOHKT IR

IG=[___ 817 Jem (G=1/2)

4. RETETE
(ERETHAKEEE :KH KH= 1.5 &35,
(2)EREtRKFEMEN FH FH=KHXxXW= 19.61 kN
(3)EXETHMMEMESN FV FV=1,/2xFH= 9.80 kN

(D) T7oh-KMDIRHF-YDEI4RA Rb

Rb={FH-hG—(W—FV)-IG} /{I-nt}=[___ 101 |kN

(B)7Uh-K WDIRBYITERTHEAMAN :Q

Q=FH./n=[ 490  [|kN

(6)TUh—K MMZET BIEHE

@BI2RYIEHE o 0 =Rb /A= 5.04 |kN/cm?
o=[__504 | <#t=[__176___ |kN/om?
QEAMIGHE T T =Q/A=| 2.44 [kN/cm?

r=[2a ] <fe=[ 01 Jan/er?

QB|2iRY LB AMERIFICZITAIES
fts=14ft—16 T =| 20.7 |kN/cm?

o=[__ 504 | <fts=[___ 207 |kN/cm?
(7) T EREM R E - R TiEE 1 (2014FR—MUFEABXEE L 4—) DHR1KY

OFUh-HIELE = HEBIEBERTVH—HRILE |
@1vy)-tE&=[___ 150 |mm = 015 |m
@R M DEHAHES
L=[__ 110 Jmm = 0.11 m
@DHFREIERERE Ta= 12.0 kN

Ta=[ 12 _Jin>Ro=[ 101 kN
L EDEERY. TUh—K MI+770EEZEHL TS,

CGE)1. REDETICEWNT, TUh—-N WDEEEATER TR DNRIYBELGWRICEEEE
ERLTZELY,

BALV-EMsMit =i EETEE KEEE 1S, HEBEITIEBFERTVH—RILE WANR1-0913
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Mg LR it R R ET - FE T a8t 1 (2014F R — MR BAEZEABAREE L 2 ) DE 1R EIE (RiEHSFD
MEXR) 3.2 7UA—RILMIK MR F(EEFDICEL TR T 5.

1. #iE= |—HRZARITSA2I—3(GSkWRY THE)
2. fs4=  |BALV-EM70A EM80A-P(-BS,~BSG)
3. HIREET
(OB E=E M M= 1337 kg
QHBEE W W=M x 10/1000= 13.37 kN
(2)7Uh—1K bk
OBAERE n n= 4 X
Qf WME - d (FEFR) M 16
Q—A Y DErmEiE (MFERICKSMmEE) A= 2.0096 cm?
O BRELBEZEZ-HEAEDEIRYEZITEFRIDT/A—K WMEARE : nt
nt= 2 PN
RFEFELVEREDETOES hG= 73.0 cm
(4)RBETT BAMMDDIHT=RMIANY = 66.0 cm

(5)REFT DA MM A=K WL NOHEEFE D ETOHKT IR

IG=[___ 320 Jem (G=1/2)

4. RETETE
(ERETHAKEEE :KH KH= 1.5 E95,
(2)EREtRKFEMEN FH FH=KHXxXW= 20.06 kN
(B)ERETHSREME N FV FV=1/2xFH= 10.03 kN

(D) T7oh-KMDIRHF-YDEI4RA Rb

Rb={FH-hG—(W—FV)-IG} “{I-nt}=[___ 103 |kN

(B)7Uh-K WDIRBYITERTHEAMAN :Q

Q=FH/n=[ 501  [|kN

(6)TUh—K MMZET BIEHE

@BI2RYIEHE o 0 =Rb /A= 5.12 |kN/cm?
o=[__512 ]| <ft=[__176 |«N/cm’
QEAMIGHE T T =Q/A=| 2.49 [kN/cm?

r=[ 24 ] <fe=[ 01 Jan/er?

QB|2iRY LB AMERIFICZITAIES
fts=14ft—16 T =| 20.6 |kN/cm?

o= 512 | <fts=[___ 206 |kN/cm’
(7) T EREM R E - R TiEE 1 (2014FR—MUFEABXEE L 4—) DHR1KY

OFUh-HIELE = HEBIEBERTVH—HRILE |
@1vy)-tE&=[___ 150 |mm = 015 |m
@R M DEHAHES
L=[__ 110 Jmm = 0.11 m
@DHFREIERERE Ta= 12.0 kN

Ta=[ 12 Jwn>Ro=[ 103 [N
L EDEERY. TUh—K MI+770EEZEHL TS,

CGE)1. REDETICEWNT, TUh—-N WDEEEATER TR DNRIYBELGWRICEEEE
ERLTZELY,

BALV-EMsMit =i EETEE KEEE 1S, HEBEITIEBFERTVH—RILE WANR1-0915

(1/1)




